R (1/3)

[CRR RN

L g B B

B+ B (NO. B i

EMAHEG)

. 3508 -
08 3000 : J000 300
. | 500, 500 000
Ak L= | KA ti-b
(Gr-G-dE) \ |
; I &Eiﬁlncﬂ?!u-; 2
| 180
2,00 %
T RO TSV = s B e W O O
| £, B:ZWBETFAIY I3 1= Scm X @ WuR7AIL (3 t= 3em
LBIEE g E 1 5 (MED)  t=10cm BN 25y br—5u(C-40) tm10cm

'Fﬂ_ﬂ'.'! t F5up—5% (C-4d0) t=26cm

Bk & (NO. 24 i)

RC UM 3008
300%300

THERBE ! I5vYe—50 {(C-40) t=26cm

; FAHIARIOw 2
et ) YT
[ERE] :
200 2%, .
— 1 :
I

= B EREITIIL 13 t= Scm #A:MHEETAIL I3 = 3em
LEEEE 1T M H (M30)  t=l0cm

3 W 95 e =5u{C40) = |lcm

B RK | 53 =38
RHE 40 fu/h
T@REA | | 1-2 % @
BICBR I Wk

Bl @ @ # F 7 T 5

EREEE [ B LR
EiermeE (173 | 31
5.« 1150 -

" AR B

oo

# 0
L g
B |
o 3 4
R IE




